Would You Rather...

—

...have 1/3 of £3 or 0.5 of £1? 1/3 of £3 = £1 (the most money!)

...be attacked by 2 of 80 tigers or 0.75 of 60 tigers? /> of 80 = 40 (the fewer tigers,
the better!)

...be given homework by 34 of 100 teachers 0.3 of 200 teachers? 0.3 of 200 = 60
(the least amount!)

...have 3/5 of 10 doughnuts or 0.2 of 5 doughnuts? 3/5 of 10 = 6 (the most
doughnuts!)

...have 9/10 of a 200g bag of sweets or 0.3 of a 600g bag of sweets? It's up to you!

They're both the same amount! 9/10 of 200 = 180 and 0.3 of 600 = 180



